1 General Awareness 30 questions, 4 mark for correct ans, no negative marking

Q 1 Which of the following is a Harappan port?
AHAfEfEd § F PF-T7 Th 8T BT §&0T8 © ?

Ops: A Alexandria

e-<fan

B. Lothal
GIEGH

C. Mahasthangarh
HERRITTS

D. Nagapattanam
ATTYSAH

Q 2 The British established its first commercial factory at
3G A 37YAT USeT ATUTRSG BREMT dal LTfud fbar ?

Ops: A Surat in 1610

1610, T

B. Amargaon in 1611
1611, 3TRTTG

C. Hoogly in 1626

1626, greft

D. Masulipatnam in 1611

1611, AgeiTagTH

Q 3 What were the symbols of Indian Nationalism?

VRART ST BT Ufdds T &1 ?

Ops: A Charkha-Khadi
TRET - Gt
B. Ashok Chakra- Talwar
372Mh Tk - deTdR

C. Lathi-Ainak
T3 - VAP
D. None of the above

IR § A B T8



Q 4 Which of these statements is TRUE with regard to the poem "Amar Sonar Bangla' penned by
Rabindranath Tagore?

TdigATer TR gRT fodt 1€ fddT IMRIAAR ST ' & oy § fefafed § F o 91 e 987 & ?

Ops: A. It was Tagore's first ever poem.
g R BT U] pfddr ot |
B. This poem later was adopted by Bangladesh as its national anthem.

S BfddT Bl 18 W FiTATS2l 7 3799 IS &b BY § 379977

C. This poem fetched Tagore the Nobel Prize.
3 PfddT & foiv IR BT Fded REPR feam 7|

D. The poem was a school prayer at Shantiniketan.

g BIdT eidf-dad H Tdb el bl UTAT ot |

Q 5 The membership of a Member of Parliament ceases after a consecutive absence for how many days?

fAHfefEd ®§ 4 fosd & &Y R 3gufkAfd & d7e F9e & e 6l Fe=dl AT &1 SIdl & ?

Ops: A. 50 days
50 f1

B. 30 days
30 f&

C. 60 days
60 fT

D. 90 days
90 fe&T

Q 6 In which year a National Emergency was declared on the ground of 'internal disturbance'?

oo o ¥ '31Td R 3uga’ & 3MUR WR Uds IS 3MUTddhIA TNfSd fsar mar &7 ?

Ops: A. 1971
B. 1965
C. 1999
D. 1975



Q 7 Which is the only planet in the Solar System which is not nhamed after a Roman mythological deity?

IR Hed BT THHATT Ug B AT & fSI9HT 719 AT URT0Iek &g & 91 W T8 & ?

Ops: A. Mercury

R
B. Earth
get

C. Neptune

T

D. Uranus

T

Q 8 Which of the following is NOT correctly matched?

frafered ¥ & B 78 BT & gafad 78 & ?
Ops: A. Atomic Minerals Directorate for Exploration and Research-Mumbai
TRHTU] GfoT 3707 Qd 37U e - g8
B. Nuclear Fuel Complex - Hyderabad
AT S TR - TR
C. Nuclear Power Corporation of India Ltd. -Mumbai

YRR ATSIT 31t BRARA fAAfies - grrg

D. Heavy Water Board - Mumbai
TS STcf §1E - gris

Q 9 Which of the following rocks is not "acidic rock"?

frafafad § ¥ s @ ggm "3l Tgq" T8 € ?

Ops: A. Granite

DEIET
B. Rhyolite
TS
C. Dolerite
EIGINES]

D. Pitchstone
i



Q 10 Recently, BMP - T Terminator was in the news. It is related to -

Tl & ° SivAdl-& efivex T=f o ol Ig defod @ -

Ops: A. Ballistic Missile system
dfcifed Harsa gorett

B. Armored fighting vehicle

S¥IRES AIslPp AT
C. Assault Rifle
3T IS
D. Frag Grenade
W IHE

Q 11 Which of the following is an anti-submarine warfare aircraft of the Indian Navy?

79 & q BT YRdTT F1T BT Teb Ugssit At Ggep fadm € 2

Ops: A. Dornier 228
SIffaR 228

B. TH - 57
évg - 57

C. UAV Heron
gudt &

D. Boeing P-81
ST P-81

Q 12 Recently , Indian Air Force test-fired Extended - Range brahmos Missile from which fighter Aircraft?
B & W, YRAI 9y A7 7 5 w81 fan § faxaRa-¥s1 senie fimset &1 wlieror fbar?

Ops: A. Sukhoi-30
gare - 30
B. Rafael
Al

C. HF - 24 Marut
UIU% - 24 H3d

D. Mirage - 2000
fiRTST - 2000




Q 13 Dicommissioned Indian naval ship (INS) Khukri planned to be converted into a museum in which
place

JaTgd foby 7T HRGRT AP STerst (INS) Gebdl Bl Ueb HURT@d H UREd &3 Pl AT & St
¥ fgd 21

Ops: A. Vishakhapatnam
faemaTaaTq

B.  Diu
EE]

C. Port Blair
I s’

D. Goa
T

Q 14 What is the name of sixth submarine of the P75 project of the Indian Navy which was launched by at
Mazgaon Dock Ltd?
YR FRAT BT P75 URATSHT bl B3l Ggest BT ATH T & TS #eTid gieb feifAde gRT ol febar mam & ?

Ops: A. INS Kalvari

3TETATH B

B. INS Khanderi
TSTATH W3t

C. INS Karanj
TSTATH Pl

D. INS Vagsheer
TSTATH AR

Q 15 Which of the following plays vital role in photosynthesis?
fafEd § 9 P gebrer Heawor § Heaquf yfdest fqrar & 2

Ops: A. Chloroplast
eRd Ta®
B. Centrosome
AR b

C. Tonoplast

D. Nematoblast

GAPRDB



Q 16 Which of the following part of the plant participate in sexual reproduction-
Gl T FA=fefard § 4 B - 91 881 oiffies ST § 11T o1 @ -

Ops: A.

Leaf

Root

Flower

Stem

Q 17 Which one of the following diseases in humans can spread through air?

HHal # fAHfefed ® & oH-91 0, arg gRT Yol JebdT & ?

Ops: A.

Dengue
7,
Tuberculosis

&rg AT

HIV-AIDS
T TS It ged

Goitre

oET

Q 18 Loudness of sound can be determined by

@ bl UgatdT fbdd gRT HURd 6T ST Jabdl & ?

Ops: A.

Amplitude of vibration

BUT BT 3TITH

Ratio of amplitude and frequency of vibration
3TITH 3R YA BT 31Tl &1 3aTd

Frequency of vibration

< BT g

Product of amplitude and frequency of vibration

3TTATH 31R &0 6T 3G BT 3T



Q 19 In which medium light travels fastest?
U1l T AT § e o<t TTfd I Iedl & ?

Ops: A Glass

Cae)
B. ( Air
g

C. Diamond

ERT

D. Vacuum

GEIG

Q 20 Which of the following place experience the least force of gravity?

AfeifEd # 8 P A1 WA a8 B TSI g BT 31T Bdl & ?

Ops: A. Equator
A Em
B. Poles

gq
C. A point between equator and a pole
Ve 3T 3R yd & 9 61 g fig
D. None
BIg el

Q 21 Naphthalene balls disappear with time without leaving any residue because of

ABYAH D MG {67 DI 379 Blg THY P 1 Jud & St 8, fbdd BRUT?

Ops: A. Sublimation

FHEdaTad

B. Evaporation
TSRt

C. Diffusion
faaror

D. None of the above

T A B1g ol T



Q 22 Which emperor's army did Maharana Pratap fight in the Battle of Haldighati?
TAIITEl & g W HERTUI UdTd F HHIS Pl I 6T g fopam ar?

Ops: A.
B.
C.

Mahmud Shah HgH< Mg

Humayun ‘gTrRi
Ibrahim Lodi
ELURCKGIG

Akbar 37dheR

Q 23 Deficiency of which of the following nutrients is the most common cause of goiters?

fFafafad & 3 fog Uiy da & B, oET I BT JTH BRUT 27

Ops: A.

Iron
ATIRT

Vitamin C
faerfia C

Calcium

Hferay

Iodine

TS

Q 24 Second generation computers can be characterized largely by their use of

Jd5g SR &b BRI B & ITANT gRT § Y0 IR afvla fosar 11 e 2|

Ops: A.

Integrated circuits
Vacuum tubes

dRH =@

Microprocessors
Transistors

giforex



Q 25 Which force helps swimmers float in water?

PIT T I RTb! BT I & oA H Heg HBdT 8?7

Ops: A. Muscular force

UM Fet

B. Frictional force
YT T

C. Buoyant force
AT gl

D. Magnetic force
EEEAREL]

Q 26 In which of the following locations was the Global venture Capital Summit 2018 held?
fifefed & O el R T@led R Sfted dfie 2018 3maford far i o ?

Ops: A. Mumbai
e
B. Pune

oo

C. Ahmedabad
JgHaldTa

D. Goa
iG]

Q 27 The Sunauli border is a famous transit point between India and

EAtelt TaT yRa 3R & di U Ufdhg gifsie wrge 22

Ops: A. Myanmar

RIAR

B. Nepal
ELIGH

C. Pakistan
qTfehedT

D. Bhutan

e



Q 28 The Walayar Dam is in which district of Kerala?
IR I B b b foiel H 2?

Ops: A. Kasaragod
BRRMS

B. Palakkad
RGESEC]

C. Thrissur
GRR

D. Idukki
EECEAl

9

Q 29 With which of the following sports is Karan Chandhok associated?
BT G FAFfafed ¥ 3 fig 9@ & defud €2

Ops: A. Lawn Tennis
GIERAGE]
B. Badminton
defriea
C. Table Tennis
qa

D. Car Racing
PR AFT

Q 30 Which is the coldest place in India?
HRA H Y 3T U P AT 8?

Ops: A. Amarnath

STHRATY
B. Dras
ol
C. Leh
GE
D. Srinagar

TR



2 English 30 questions, 4 mark for correct ans, no negative marking

Q 1 Select the most appropriate meaning of the given idiom. Like a cakewalk

Ops: A. Smooth surface
B. Pleasant experience
C. Easy task
D. Active

Q 2 Select the most appropriate meaning of the given idiom. A green horn

Ops: A. Uneducated person
B. Inexperienced person
C. Clever person

D. Skilled person

Q 3 Choose the correct meaning of the given idiom. Bag and baggage

Ops: A. With burden
B. Without any aim
C. Without happiness

D. With all of one's possessions

Q 4 Select the most appropriate meaning of the given idiom. Break the ice

Ops: A. Make people meeting first time feel uncomfortable
B. Make people meeting first time feel sad
C. Make people meeting first time feel more detached

D. Make people meeting first time feel more comfortable



Q 5 Select the most appropriate meaning of the given idiom. To smell a rat

Ops: A.
B.
C.
D.

To have reason to know the presence of a rat
To have reason to suspect
To know the smell of a rat

To learn the smell of a rat

Q 6 Select the most appropriate meaning of the given idiom. Fair and square

Ops:

o0 w P

Honestly
Fair-skinned
Being vague

Good looking

Q 7 Select the option that can be used as a one-word substitute for the given group of words.
A piece of a living tissue or plant that is transplanted surgically

Ops:

o N w >

Gratis
Gourmet
Gracious

Graft

Q 8 Select the option that can be used as a one-word substitute for the given group of words.
Plants of a particular region

Ops: A
B.
C.
D.

Flora
Flinch
Fauna

Flotsam



Q 9 Select the option that can be used as a one-word substitute for the given group of words.
One who does something not professionally but for pleasure

Ops: A.
B.
C.

D.

Q 10 Select the option that can be used as a one-word substitute for the given group of words.
A place where coins and medals are made.

Ops: A.
B.
C.
D.

Professional
Mature
Immature

Amateur

Office
Mint
Mine

Barn

Q 11 Select the INCORRECTLY spelt word.

Ops: A
B.
C.
D.

Finery
Hiest
Cringe

Defer

Q 12 Select the INCORRECTLY spelt word.

Ops: A
B.
C.
D.

Peircing
Sleek
Pie

Itch



Q 13 Choose the incorrectly spelt word.
Ops: A Slaughter
B. Cropping

C. Traffickng

D. Tyrannical

Q 14 Select the INCORRECTLY spelt word

Ops: A. Cemetery

B. Accommodate
C. Intruder
D. Necessary

Q 15 Choose the INCORRECTLY spelt word.

Ops: A Texture

B. Slege
C. Savoury
D. Tamper

Q 16 Select the most appropriate synonym of the given word.
Competent

Ops: A. Complex
B. Poor

C. Capable

D. Beginner



Q 17 Select the most appropriate synonym of the given word.

Announce

Ops: A. Denounce
B. Secret
C. Hide

D. Advertise

Q 18 Select the most appropriate synonym of the underlined word in the given sentence.
The sporadic instructions of the invigilators distracted the examinee.

Ops: A. Continuous
B. Indirect
C. Repetitive

D. Occasional

Q 19 Select the most appropriate synonym of the given word.
Transient

Ops: A Transform

B. Temporary
C. Transmit
D. Trap

Q 20 Select the most appropriate synonym of the given word.
Moral

Ops: A Ethical
B. Honourable
C. Godliness

D. Symphony



Q 21 Select the most appropriate synonym of the given word.
Exaltation

Ops: A. Dejection
B. Ecstasy
C. Satisfaction

D. Elaboration

Q 22 Select the most appropriate ANTONYM of the given word.
Rebellion

Ops: A. Uprising
B. Loyalty
C. Sedition
D. Allotment

Q 23 Select the most appropriate ANTONYM of the given word.
Hospitality

Ops: A. Complaint

B. Cordiality
C. Coldness
D. Wrathful

Q 24 Select the most appropriate ANTONYM of the underlined word.
Failure to carry hall ticket to the exam is considered as a trivial issue.

Ops: A. underrated
B. kind
C. problematic

D. serious



Q 25 Select the most appropriate ANTONYM of the given word.
Casual

Ops: A Spiritual
B. Personal
C. Formal

D. Traditional

Q 26 Select the most appropriate ANTONYM of the given word.

Conceit
Ops: A. Concealment
B. Reveal
C. Modesty
D. Hidden

Q 27 Select the most appropriate option to fill in the blank.
The angles are equal, consequently the sides are _.

Ops: A. equal

B. unequal
C. larger
D. smaller

Q 28 Select the most appropriate collocating word to fill in the blank.
Ram was praised for his leadership.

Ops: A. imaginary
B. visionary
C. magical

D. broad



Q 29 Select the most appropriate option to fill in the blank.
The doctor directed the nurse to administer an medicine to the patient.

Ops: A. official

B. eminent
C. alternative
D. insightful

Q 30 Select the most appropriate option to fill in the blank.

If you try to do something every day you will progress.
Ops: A. hold

B. get

C. make

D. catch

3 General Intelligence & Reasoning 30 questions, 4 mark for correct ans, no negative marking

Q 1 In a certain language, CHHAPAK is coded as DJKEUGR. How will MALANGA be coded in that
language?
Ues fAfeard goe Mo H CHHAPAK @1 DIKEUGR & ®U | Beedg fdsam Sirar 21 33 e vroT Hf MALANGA &1
o B H Ppedg fbar SR ?

Ops: A NCEOSMC
B. NCOCSMC
C. NCOESMH
D. NCOCMSC



Q2

Ops:

Q3

Ops:

Q4

Ops:

Amit, Gaurav, Hatim, Varun, Yukti and Zaid are sitting in a straight line, all facing the north. Gaurav is
fourth to the left of Amit. Yukti is sitting at one corner. Hatim is fourth to the left of Yukti. Zaid is third
to the right of Gaurav. Who is sitting at the second place to the left of Zaid?

wiféd, Tiva, wfa, T0T g 3R Sie T A ofe ¥ 95 ¢ it 3R Ren B 39k sifigw 1 ke, 3fid B
IR Y W W 21 Gfekd b fBAR W I3t 21 gIfa, ferd & a1 T T W 21 Si, TRT & e dRR AT
W Bl Sl &b IR GEY VI W B d3T 7 ?

A. Varun
gauT
B. Yukti
gfert
C. Hatim
GIGL]
D. Amit
37fAa

Select the correct combination of mathematical signs that can sequentially replace the * signs and
balance the given equation.

60 * 48 * 36 * 6 * 15 * 53

U Rl & 39 Hel FAIoH ol I o 1S 1 1T 77 AT # * fagl & M W shiHd B0 H 3@
 FHIOT Hfeid g ST

60 * 48 * 36 * 6 * 15 * 53

A. +, =, -, X, =
B. +, 5, %X, -, =
C. ,+, X, -, =
D. X, =, + =

Select the number from among the given options that can replace the question mark (?) in the
following series.

237, 196, 155, 114, ?

1T Mg faeeat ¥ ¥ g8 T gy o fAEfAfEd Aoit & gedares fame (?) & M W 31 Johd 2
237, 196, 155, 114, ?

A. 47
B. 98
C. 73
D. 64



Q 5 Select the combination of letters that when sequentially placed in the blanks of the given series will
complete the series.
_Z_C_LZ_C_L_X_VL___V
3ERT & 3T TSI BT IIT Px ol & T8 YT &b Rt TN H BiHd B F IW ST W I YT BT gof
BT
_Z_C_LZ_C_L_X_VL___V

Ops: L, X, V,X,V,Z C,Z X, C
X, Z,L,XV,ZCCCL
L, X,C, X, V.C,ZC,ZC
L, X,V,V,X,C,C X, 2 Z

o0 w P

Q 6 If'@' means 'addition’, '%' means 'multiplication’, '$' means 'division' and '#' means 'subtraction’,
then find the value of the following expression.
29@ 128 $16 % 7 # 22

Ife '@ BT 372 'S 8, ‘%' BT 37 On' &, '$' BT 312 M R 3R # 1 31w B, Y FAfafad dsie

&BT HH ATd BT
Ops: A 58

B. 47

C. 63

D. 23



Q 7 Select the option in which the given figure is embeded (rotation is NOT allowed).
39 fadea &1 9a7 & S <t 18 3napfd Af=fed 2 (g HY 3gAafd T8 2)

T

3216851

Ops: A







Q 8 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is
shown in the following figures. How would this paper look when unfolded?
fAifcd smepfadl § BTTST & Ueb g Bl HIgd &1 A 3R Hg U BIIST DI Bl BT aid! [E@EmT 7T 81 T
BITST et TR BT e ?

. .
O -
."xO' Y
h, L]
ST 1
L & @
-~ ! s
* e ds ™

Ops: A.




Q 9 Read the given statements and conclusions carefully. Assuming that the information given in the
statements is true, even if it appears to be at variance with commonly known facts, decide which of
the given conclusions logically follow(s) from the statements.

Statements:
All flowers are beautiful.
Vaidehi is beautiful.

Conclusions:
I. Vaidehi is a flower.
II. Some beautiful are flowers.

1T 7q AT 3R fApuf B waHYd® ue| ag Ad g b Bl | &I 1€ STHeRI 9 &, ¥ol 8 98 9T B
I T qAt I A= Tedid Bt &Y, 97 B} 1 Ay g fApst § B I fwpy weAl 1 difdhds B I AR
P &l

P
Tt Bel, Y B
9ET, YR B

ELE

I & Bt Bl
II $8 &, B 2

Ops: A. Only conclusion II follows.
Ppact ARy 11 31JER0T BT Bl
B. Either conclusion I or II follows.
T dr fAspe I AT 11 37ER0T T &
C. Only conclusion I follows.

el TSP I 37 HOT BT 2

D. Both the conclusions follow.

AT fAsep 317ER0T BYd B



Q 10 Select the correct water image of the given combination of letters.
DFNZSR
T MY 378R- AW BT o § Ffid T8t wfdfda gafid B3|
DFNZSR

ossA- - QdUNSCHB
“ DEZN@ZbB
“ DEWS2eH
> DEWSZHB

Q 11 Select the correct option that indicates the arrangement of the given words in the order in which they
appear in an English dictionary

Ig el fdehey g SiT fEU TV 2reai b 39 thH ol S2IfdT & 57 67 H d 3{USit 2eceprel H HIS[E 81d B
1. Petitionary

2. Petitioning
3. Petition

4. Petitioners
5. Petitioned

Ops: 1,2,3,4,5
4,1,2,3,5
3,1,5,4,2
3,1,4,5,2

o 0w »

Q 12 Select the option that is related to the third term in the same way as the second term is related to
the first term.
3 fahed BT To B Sl TR U< I 34T JhR Ifod ¢ o UPR IR U< Ugel g 3 Heifad 2|
BACTERIA : EXFWBUFX :: WOUNDS : ?

Ops: A ZLRQGV
B. (  YLRQFV
C. ( ZLSQFW
D. ZRXQGV



Q 13 Study the given pattern carefully and select the number from among the given options that can
replace the question mark (?) in it.
QU TT¢ e o1 wHyd 3read & 3R QU 1 foebeul # I 39 ST BT I B Sil 394 JAdrEsD fg (?)
&P Y W 37 Fhd! gl

48 63 56
42 1884515215178
14917
Ops: A 21
B. 18
C. 19
D. 17

Q 14 Select the letter-cluster from among the given options that can replace the question mark (?) in the
following series.
3T Y fdepeal # & 39 31eR - g BT I HIfSY I [FAfcfEd Y@ § e (?) & WM W 31T Jbdl
2l
TSF, RPJ, PMN, NJR, ?

Ops: A. JFV
B. KGU
C. LGN
D. LGV

Q 151n a certain code language, 'CROWD' is coded as 23415924 and "TRHICK' is coded as 162491997.
How will 'FRUGAL' be coded in that language?
Ueph fAfeTid e HTHT ®, 'CROWD' T 23415924 & ®U H Pedg fobam 71 € iR 'TRHICK' @1 162491997 &
BU H pedg fbar T 21 34T 1TeT | 'FRUGAL' 1 fdbd ®U H Pedg fbar Sram?

Ops: A. 1226761821
B. 1521012291
C. 1512021921
D. 1221021186



Q 16 Saloni is the daughter of the only son of Kartik. Nirupama is the mother of Deepak. Yamini's only son,
Ankit, is married to Nirupama. Kartik is the paternal grandfather of Deepak. How is Kartik related to
Ankit?

FAHT, BT & Tehald d¢ Pl ot &1 THUHAT, U DI AT 81 ATEAT & Vhald g 3ifdsa br oMl FHeuar &
€8 8| PIfdes, Eud & aral 81 Pifdes o 3ifcd & o1 Heyy 82

Ops: A. Brother
RIS

B. Paternal uncle
T

C. Son
T

D. Father
Gl

Q 17 Six letters and symbols, H, h, I, @, % and $, are written on the different faces of a dice. Two
positions of this dice are shown. Select the letter or symbols that will be on the face opposite to the
one having 'H'.
T Y P I Befedl W 8: 38R IR TAB H, h, I, @, % 3R $ foi@ 77 &1 o9 gy &Y < f&Afaar fears
TS 1 39 31&R AT Ycltds BT TIT B Sit 'H' aTel Belds &b fIuid Tetds TR 8|

% | H h.@
Ops: A. $
B. %
C. h
D. @

Q 18 Select the option that is related to the third number in the same way as the second number is related
to the first number.
39 fdhcq BT T Py, STTd! dRIRT TEaT F g8l Fed &, ST ! JAT 6T Ugedt T&7 3 2
223 :350::519:7?

Ops: A. 736
B. 645
C. 687

D. 654



Q 19 Four letter-clusters have been given, out of which three are alike in some manner and one is
different. Select the letter-cluster that is different.
13T T TR 31eR-GHEl # 9 o bt 7 fosadt bR & TAM € 3R Ueb 3187Td &1 39 39 317 378R-THg Pl
AT B

Ops: A. SPK
B. JGT
C. PMN
D. GTQ



Q 20 Select the figure from among the given options that can replace the question mark (?) in the
following series.

eU TV fassedl ¥ I 39 3P BT 9 &SIl [HH Wt H JeTdaad g (?) & T W 37 ! 8l

Ops: A.




Q 211n a certain code language, 6219 means 'Sachin is a cricketer' and 2646 means 'He played from
Mumbai'. Which of the following is the code for 'Mumbai is very famous'?
Uep fAfeTid e HTeT ®, 6219 &1 318f 'Sachin is cricketer' € 3IR 2646 &1 313 'He played from mumbai' 21
'Mumbai is very famous' & feig fAmfcifed # & fdog ge &1 wRiT fdsam Sir?

Ops: A. 7945

B. 6246
C. 6285
D. 2458

Q 22 Select the set of classes the relationship among which is best illustrated by the following Venn
diagram.

aif & 3 HHIY DT I BN ol 2eal b & b1 Hae ([HH 99 3R gRT Fafad BU 4 gerfar i gl

©

Ops: A Fathers, Brothers, Males

far, wig, gou

B. Grandfathers, Fathers, Males
&1el, fudt, gey

C. Literates, Engineers, Farmers
qTER, oM, fdsam

D. Mothers, Aunts, Doctors

e



Q 23 Gaurav exits from the backdoor of his north-facing house and walks 25 m straight, then the takes a
left turn and walks 36 m, then he turns left and walks 47 m. He turns left again and walks 36 m. How
far and in which direction is he from his house now?

TRE 319 39 =R & (U8 Aot I d1eR (HebeldT 8 fSRaepT J@0 gIR 3w &2 & 3R 8 3R 25 m T <efd &,
i g aT¢ FoaT & 3R 36 m =T £, I8 R aT¢ oaT @ 3R 47 m T #1 a8 R F a1¢ gear & 3R 36 m
ToTdl 81 g8 370 TR foat g 3R fbgy feem # € 2

Ops: A. 22 m, North
22 m, 3N

B. 11 m, North
11 m, 3

C. 22 m, South
22 m, &feror

D. 11 m, South
11 m, =faror

Q 24 Mohit and Sudesh bought pens and notebooks from the same shop. Mohit bought 3 pens and 6
notebooks by paying an amount of ¥180. Sudesh bought 5 pens and 2 notebooks by paying an
amount of ¥116. How much did Mohit spend on buying notebooks?

Aifed 3R J&or 7 T & g A et 3R Bifoar WIeH | Hifed 7 7180 G 3 FHaId 3R 6 Pifuai Tl |
Faor 4 116 @ 5 et 3R 2 Bifudi WIS HIfgd 3 BIfuai BRied W fbd Bud &< foby ?

Ops: A. 384
B. 3138
C. %122
D. %115

Q 25 Select the number from among the given options that can replace the question mark (?) in the
following series.
&T TV fdeheal # & g Fwar AT S HfefeEd 9uit § geTarae g (?) & I W 31 Jebd! 8l
5, 18, 70, 278, ?

Ops: A. 328
B. 298
C. 1110

D. 592



Q 26 Arrange the following words in a logical and meaningful order
1.Monkey 2. Elephant 3. Rat 4. Fly 5. Lion
fAfafEd el & T arfde 3R wrefe B § Fafed difey
1.Monkey 2. Elephant 3. Rat 4. Fly 5. Lion

Ops:A. ( )3,4,1,5,2
B. (4,3,1,5,2
C. (14,1,3,2,5
D. (3,4,1,2,5

Q 27 Select the option that is related to the third letter-cluster in the same way as the second letter cluster
is related to the first letter-cluster.
GATE: HXYX: : SINK:
39 faed o1 Ia HIGR o T RT 37eR THE 3T TR Feifod & S ThR gIRT 31gR-THE, Ued 38R
Ig I Hefed 2
GATE: HXYX: : SINK:

Ops: A TGSE
B. TETD
C. TESD
D. TFSD

Q 28 Three of the following four words are alike in a certain way and one is different. Pick the odd
one out.

fAAfafad ar ol § § @7 e ffodd bR I T I9F § 31R Ua = 21 i &1 =ra[ FifSi|

Ops: A Roar
B. Hoot
C. Bray
D. Amble



Q 29 1n a code language, BLEND is written as ENHPG. How will WINNER be written in the same language?
U e HTHT H, BLEND I ENHPG foi@r STrar 21 33t 1S & WINNER @1 fdod UebR fotem S|

Ops: A. () ZKQPHT

B. () ZKQPHU
C. (  YKQPHT
D. () ZKOPHT

Q 30If V=44 and FAT=54, then how will you code LATE?
gfe V=44 31k FAT=54 &, o LATE &T e T IT?

Ops: A. 76
B. 110
C. 54

D. 19



